
 

1 | P a g e  

 

 

 

 

 

 

 

 

 

 

SUGGESTED SOLUTION 
 

INTERMEDIATE N’18 EXAM 
 

SUBJECT- S.M. 
 

Test Code – PIN 5015   
 

(Date :)  
 

 

 

 

 

 

 

 

 

 

 

 

 

Head Office : Shraddha, 3rd Floor, Near Chinai College, Andheri (E), Mumbai – 69. 
 

Tel : (022) 26836666 
  
 

 



 

2 | P a g e  

 
 
ANSWER-1 
 

a. A strategic vision delineates organization’s aspirations for the business, providing a 
panoramic view of the position where the organization is going. A strategic vision 
points an organization in a particular direction, charts a strategic path for it to 
follow in preparing for the future, and moulds organizational identity. A Strategic 
vision is a road map of a company’s future – providing specifics about technology 
and customer focus, the geographic and product markets to be pursued, the 
capabilities it plans to develop, and the kind of company that management is 
trying to create. 

b. In co-generic merger two or more merging organizations are associated in some 
way or the other related to the production processes, business markets, or basic 
required technologies. Such merger includes the extension of the product line or 
acquiring components that are required in the daily operations. It offers great 
opportunities to business to diversify around a common set of resources and 
strategic requirements. 

c. Competitive advantage is the position of a firm to maintain and sustain a favorable 
market position when compared to the competitors. Competitive advantage is 
ability to offer buyers something different and thereby providing more value for the 
money. It is achieved advantage over rivals when a company’s profitability is  
greater  than  average profitability of firms in its industry. It is the result of a 
successful strategy. This position gets translated into higher market share, higher 
profits when compared to those that are obtained by competitors operating in the 
same industry. Competitive advantage may also be in the form of low cost 
relationship in the industry or being unique in the industry  along dimensions that 
are widely valued by the customers in particular and the society at large. 

d. Directional strategies, also called grand strategies, provide basic directions for 
strategic actions towards achieving strategic goals. Such strategies are formulated 
at the corporate level so are also known as corporate strategies. The corporate 
strategies a firm can adopt have been classified into four broad categories: 
stability, expansion, retrenchment, and combination. 

e. A core competencies a unique strength of an organization which may not be shared 
by others. It is defined as a combination of skills and techniques rather than 
individual skill or separate technique. Core competencies are those capabilities that 
are critical to a business achieving competitive advantage. In order to qualify as a 
core competence,  the competency should differentiate the business from any 
other similar businesses. 
 

ANSWER-2 
 

A. Incorrect: Marketing function and production function complement each other. They 
need to work in tandem to produce goods as per the needs and preferences of the 
customers. Marketing links the production with the customers. 

B. Incorrect: In business, things happen that cannot be fully anticipated or planned for. 
When market and competitive conditions take an unexpected turn or some aspect of 
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a company's strategy hits a stone wall, some kind of strategic reaction or adjustment 
is required. 

C. Incorrect: Every company has its own organisational culture. Each has its own 
business philosophy and principles, its own ways of approaching to the problems and 
making decisions, its own work climate, work ethics, etc. Therefore, corporate culture 
is not identical in all organisations. Organisations over a period of time inherit and 
percolate down its own specific work ethos and approaches. 

D. Correct: Economies of scale leads to decline in the per-unit cost of production (or 
other activity) as volume grows. A large firm that enjoys economies of scale can 
produce high volumes of goods at successively lower costs. This tends to discourage 
new entrants. 

E. Incorrect: Strategic management applies equally to profit as well as non-profit 
organisations. Similar to commercial organizations, ‘not-for-profit’ organizations 
must also have strategies, purpose, vision and mission also. Strategic Management is 
required to give direction, focus and lead to efficient utilization of resources. In many 
‘not-for-profit’ organizations surpluses are important for their survival and growth. 

 

ANSWER-3 
 
ANSWER-A 

 

In a highly competitive marketplace, companies can operate successfully by creating 
and delivering superior value to target customers and also learning how to adapt to a 
continuously changing business environment. So to meet changing conditions in their 
industries, companies need to be farsighted and visionary, and must have a system of 
managing strategically. 

Strategic management starts with developing a company mission (to give it direction), 
objectives and goals (to give it means and methods for accomplishing its mission), 
business portfolio (to allow management to utilise all facets of the organisation), and 
functional plans (plans to carry out daily operations from the different functional 
disciplines). 

The overall objective of strategic management is two fold: 

 To create competitive advantage, so that the company can outperform the 
competitors in order to have dominance over the market. 

 To guide the company successfully through all changes in the environment. 

The following are the benefits of strategic approach to managing: 

 Strategic management helps organisations to be more proactive instead of 
reactive in shaping its future. Organisations are able to analyse and take actions 
instead of being mere spectators. Thereby they are able to control there own destiny in a 
better manner. It helps them in working within vagaries of environment and shaping it, 
instead of getting carried away by its turbulence or uncertainties. 

 Strategic management provides framework for all the major business 
decisions of an enterprise such as decisions on businesses, products, markets, 
manufacturing facilities, investments and organisational structure. It provides better 
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guidance to entire organisation on the crucial point - what it is trying to do. 

 Strategic management is concerned with ensuring a good future for the 
firm. It seeks to prepare the corporation to face the future and act as pathfinder to 
various business opportunities. Organisations are able to identify the available 
opportunities and identify ways and means as how to reach them. 
Strategic management serves as a corporate defence mechanism against mistakes and 
pitfalls. It help organizations to avoid costly mistakes in product market choices or 
investments. Over a period of time strategic management helps organization to evolve 
certain core competencies and competitive advantages that assist in its fight for survival 
and growth. 

 
ANSWER-B 

 
An important component of strategic thinking requires the generation of a series of strategic 
alternatives, or choices of future strategies to pursue, given the company's internal strengths 
and weaknesses and its external opportunities and threats. The comparison of strengths, 
weaknesses, opportunities, and threats is normally referred to as SWOT analysis. SWOT 
analysis helps managers to craft business model that will allow a company to gain a 
competitive advantage. Key reasons for SWOT analyses are: 

• It provides a logical framework for systematic identification of issues having bearing 
on the business situation, generation of alternative strategies and the choice of a 
strategy. 

• It presents a comparative account of both external and internal environment in a 
structured form where it is possible to compare external opportunities and threats 
with internal strengths and weaknesses. 

 It guides the strategist in strategy identification. It guides the strategist to think of 
overall position of the organization that helps to identify the major purpose of the 
strategy under focus. 
 

ANSWER-4 
 
ANSWER-A 

 
The major dimensions of strategic decisions are as follows: 

♦ Strategic decisions require top-management involvement: Strategic decisions involve 
thinking in totality of the organization. Hence, problems calling for strategic decisions 
require to be considered by the top management. 

♦ Strategic decisions involve commitment of organisational resources: For example, 
Strategic decisions to launch a new project by a firm requires allocation of huge funds 
and assignment of a large number of employees. 

♦ Strategic decisions necessitate consideration of factors in the firm's external 
environment: Strategic focus in organization involves orienting its internal 
environment to the changes of external environment. 
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♦ Strategic decisions are likely to have a significant impact on the long-term prosperity 
of the firm: Generally, the results of strategic implementation are seen on a long-
term basis and not immediately. 

♦ Strategic decisions are future oriented: Strategic thinking involves predicting the 
future environmental conditions and how to orient for the changed conditions. 

 Strategic decisions usually have major multifunctional or multi-business 
consequences: As they involve organization in totality they affect different sections 
of the organization with varying degree. 
 

ANSWER-B 
 

Acquisitions and mergers are basically combination strategies. Some organizations prefer to 
grow through mergers. Merger is considered to be a process when two or more companies 
come together to expand their business operations. In such a case the deal gets finalized on 
friendly terms and both the organizations share profits in the newly created entity. In a 
merger two organizations combine to increase their strength and financial gains along with 
breaking the trade barriers. 

When one organization takes over the other organization and controls all its business 
operations, it is known as acquisition. In this process of acquisition, one financially strong 
organization overpowers the weaker one. Acquisitions often happen during recession in 
economy or during declining profit margins. In this process, one that is financially stronger 
and bigger establishes it power. The combined operations then run under the name of the 
powerful entity. A deal in case of an acquisition is often done in an unfriendly manner, it is 
more or less a forced association where the powerful organization either consumes the 
operation or a company in loss is forced to sell its entity. 

During the turnaround, the “product mix” may be changed, requiring the organization to do 
some repositioning. Core products neglected over time may require immediate attention to 
remain competitive. Some facilities might be closed; the organization may even withdraw 
from certain markets to make organization leaner or target its products toward a different 
niche. 

The ‘people mix” is another important ingredient in the organization’s competitive 
effectiveness. Reward and compensation systems that encourage dedication and creativity 
encourage employees to think profits and return on investments. 

Stage Five – Returning to normal: In the final stage of turnaround strategy process, the 
organization should begin to show signs of profitability, return on investments and 
enhancing economic value-added. Emphasis is placed on a number of strategic efforts such 
as carefully adding new products and improving customer service, creating alliances with 
other organizations, increasing the market share, etc. 
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ANSWER-5 
 

ANSWER-A 
 

A strategic alliance is a relationship between two or more businesses that enables each to 
achieve certain strategic objectives which neither would be able to achieve on its own. The 
strategic partners maintain their status as independent and separate entities, share the 
benefits and control over the partnership, and continue to make contributions to the 
alliance until it is terminated. Strategic alliances are often formed in the global marketplace 
between businesses that are based in different regions of the world. 

Advantages of Strategic Alliance 

Strategic alliance usually are only formed if they provide an advantage to all the parties in 
the alliance.  

These advantages can be broadly categorized as follows: 

1. Organizational: Strategic alliance helps to learn necessary skills and obtain certain 
capabilities from strategic partners. Strategic partners may also help to enhance 
productive capacity, provide a distribution system, or extend supply chain. Strategic 
partners may provide a good or service that complements thereby creating a 
synergy. Having a strategic partner who is well-known and respected also helps add 
legitimacy and creditability to a new venture. 

2. Economic: There can be reduction in costs and risks by distributing them across the 
members of the alliance. Greater economies of scale can be obtained in an alliance, 
as production volume can increase, causing the cost per unit to decline. Finally, 
partners can take advantage of co-specialization, creating additional value, such as 
when a leading computer manufacturer bundles its desktop with a leading monitor 
manufacturer's monitor. 

3. Strategic: Rivals can join together to cooperate instead of compete. Vertical 
integration can be created where partners are part of supply chain. Strategic alliances 
may also be useful to create a competitive advantage by the pooling of resources and 
skills. This may also help with future business opportunities and the development of 
new products and technologies. Strategic alliances may also be used to get access to 
new technologies or to pursue joint research and development. 

4. Political: Sometimes strategic alliances are formed with a local foreign business to 
gain entry into a foreign market either because of local prejudices or legal barriers to 
entry. Forming strategic alliances with politically-influential partners may also help 
improve your own influence and position. 

Disadvantages of Strategic Alliance 

Strategic alliances do come with some disadvantages and risks. The major 
disadvantage is sharing. Strategic alliances require sharing of resources and profits, 
and also sharing knowledge and skills that otherwise organisations may not like to 
share. Sharing knowledge and skills can be problematic if they involve trade secrets. 
Agreements can be executed to protect trade secrets, but they are only as good as 
the willingness of parties to abide by the agreements or the courts willingness to 
enforce them. Strategic alliances may also create a potential competitor. An ally may 
become a competitor in future when it decides to separate out. 
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ANSWER-B 
 

 Reengineering is a major radical improvement in the business process. Only a limited 
number of companies are able to have enough courage for having BPR because of the 
challenges posed. It disturbs established hierarchies and functional structures and 
creates serious repercussions and involves resistance among the work-force. 
 

 Reengineering involves time and expenditure, at least in the short run, that many 
companies are reluctant to go through the exercise. Even there can be loss in revenue 
during the transition period. 
 

 Setting of targets is tricky and difficult. If the targets are not properly set or the whole 
transformation not properly carried out, reengineering efforts may turn¬out to be a 
failure. 

 

ANSWER-6 
 

ANSWER-A 
 

Human resource management has been accepted as a strategic partner in the formulation of 
organization’s strategies and in the implementation of such strategies through human 
resource planning, employment, training, appraisal and reward systems. The following 
points should be kept in mind as they can have a strong influence on employee competence: 

i. Recruitment and selection: The workforce will be more competent if a firm can 
successfully identify, attract, and select highly competent applicants. 

ii. Training: The workforce will be more competent if employees are well trained 
to perform their jobs properly. 

iii. Appraisal of performance: The performance appraisal is to identify any 
performance deficiencies experienced by employees due to lack of 
competence. Such deficiencies, once identified, can often be solved through 
counselling, coaching or training. 

iv. Compensation: A firm can usually increase the competency of its workforce by 
offering pay, benefits and rewards that are not only attractive than those of 
their competitors but also recognizes merit. 

 
ANSWER-B 
 

1.      Traditional leadership borrowed its concept from formal  Top-down  type  of leadership 
such as in the military. The style is based on the belief that power is bestowed on the 
leader, in keeping with the traditions of the past. This type of leadership places 
managers at the top and workers at the bottom of rung of power. In transformational 
leadership, leader motivates and empowers employees to achieve company’s 
objectives by appealing to higher ideas and values. They use charisma and 
enthusiasm to inspire people to exert them for the good of the organization. 
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2. Traditional leadership emphasizes characteristics or behaviours of only one leader 
within a particular group whereas transformational leadership provides a space to 
have more than one leader in the same group at the same time. According to the 
transformational leadership style, a leader at one instance can also be a follower in 
another instance. Thus there is element of flexibility in the relationships. 

3. Traditional leadership is more focused in getting the work done in routine 
environment. Traditional leaders are effective in achieving the set objectives and 
goals whereas transformational leaders have behavioural capacity to recognize and 
react to paradoxes, contradictions and complexities in the environment. 
Transformational leadership style is more focus on the special skills or talents that 
the leaders must have to practice to face challenging situations. Transformational 
leaders work to change the organizational culture by implementing new ideas. 

4. In traditional leadership, followers are loyal to the position and what it represents 
rather than who happens to be holding that position whereas in transformational 
leadership followers dedicate and admire the quality of the leader not of its position. 

 

ANSWER-7 
 

ANSWER-A 
 

The Ansoff’s product market growth matrix (proposed by Igor Ansoff) is a useful tool that 
helps businesses decide their product and market growth strategy.  This  matrix further  
helps to analyse different strategic directions. According to Ansoff there are four 
strategies that organization might follow. These options for strategies are summarized 
below and shown in the matrix drawn under: 

 Market Penetration: Market penetration refers to a growth strategy where 
the business focuses on selling existing products into existing markets. 

 Market  Development:  Market  development  refers  to  a  growth  strategy  
where  the business seeks to sell its existing products into new markets. 

 Product Development: Product development refers to a growth strategy 
where business aims to introduce new products into existing markets. 

 Diversification: Diversification refers to a growth strategy where a 
business markets new products in new markets. 

As market conditions change over time, a company may shift product-market 
growth strategies. For example, when its present market is fully saturated there may 
be no choice other than to pursue new market. 
 

Appropriate strategies for each type as follows. 

(a) Build with the aim for long-term growth and strong future. 
(b) Hold or preserve the existing market share. 
(c) Harvest or maximize short-term cash flows.  
(d) Divest, sell or liquidate and ensure better utilization of resources elsewhere.  
 
Thus BCG matrix is a powerful tool for strategic planning analysis and choice. 
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ANSWER-B 

The major stages in the strategic management process are: 
(i) Develop vision and mission statements 

(ii) Perform internal and external audit 

(iii) Establish long-term objectives 

(iv) Generate, evaluate, and select strategies 

(v) Implement strategies considering management issues 

(vi) Implement strategies marketing, finance, accounting, R&D, MIS issues 

(vii) Measure and evaluate performance 

ANSWER-8 

ANSWER-A 

The prominent  areas  where the  human  resource manager  can play  strategic  role 
are  as follows: 

1. Providing purposeful direction: The human resource management must be 
able to lead people and the organization towards the desired direction involving 
people. The management have to ensure harmony between organisational 
objectives and individual objectives. Objectives are specific aims which must be 
in the line with the goal of the organization and the all actions of each person 
must be consistent with them. 

2. Creating competitive atmosphere: In the present business environment, 
maintaining competitive position or gains is an important objective of any 
business. Having a highly committed and competent workforce is very 
important for getting a competitively advantageous position. 

3. Facilitation of change: The human resource manager will be more concerned 
about furthering the organization not just maintaining it. He has to devote more 
time to promote acceptance of change rather than maintaining the status quo. 

4. Diversion of workforce: In a modern organization, management of diverse 
workforce is a great challenge. Workforce diversity can be observed in terms of 
male and female, young and old, educated and uneducated, unskilled and 
professional employee and so on. Maintaining a congenial healthy work 
environment is a challenge for HR Manager. Motivation, maintaining morale 
and commitment are some of the key task that a HR manager has to perform. 

5. Empowerment of human resources: Empowerment involves giving more  
power  to those who, at present, have little control what they do and little 
ability to influence the decisions being made around them. 

6. Building core competency: The human resource manager has an important role 
to play in developing core competency by the firm. A core competence is a 
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unique strength of an organization which may not be shared by others. 
Organization of business around core competence implies leveraging the 
limited resources of a firm. It needs creative, courageous and dynamic 
leadership having faith in organization’s human resources. 

7. Development of works ethics and culture: A vibrant work culture will have to 
be developed in the organizations to create an atmosphere of trust among 
people and to encourage creative ideas by the people. Far reaching changes 
with the help of technical knowledge will be required for this purpose. 

ANSWER-B 

When the demand for a product is irregular due to season, some parts of the day, or on hour 
basis, causing idle capacity or overworked capacities, synchro-marketing can be used to find 
ways to alter the pattern of demand through flexible pricing, promotion, and other 
incentives. For example, products such as movie tickets can be sold at lower price over week 
days to generate demand. 

 

ANSWER-9 

ANSWER-A 

A successful focus strategy depends on an industry segment that is of sufficient size, has 
good growth potential, and is not crucial to the success of other major competitors. 
Strategies such as market penetration and market development offer substantial focusing 
advantages. Midsize and large firms can effectively pursue focus- based strategies only in 
conjunction with differentiation or cost leadership-based strategies. All firms in essence 
follow a differentiated strategy. Because only one firm can differentiate itself with the 
lowest cost, the remaining firms in the industry must find other ways to differentiate their 
products. 

Focus strategies are most effective when consumers have distinctive preferences or 
requirements and when rival firms are not attempting to specialize in the same target 
segment. Risks of pursuing a focus strategy include the possibility that numerous 
competitors will recognize the successful focus strategy and copy it, or that consumer 
preferences will drift toward the product attributes desired by the market as a whole. An 
organization using a focus strategy may concentrate on a particular group of customers, 
geographic markets, or on particular product-line segments in order to serve a well-defined 
but narrow market better than competitors who serve a broader market. 

Focused cost leadership: A focused cost leadership strategy requires competing based on 
price to target a narrow market. A firm that follows this strategy does not necessarily charge 
the lowest prices in the industry. Instead, it charges low prices relative to other firms that 
compete within the target market. Firms that compete based on price and target a narrow 
market are following a focused cost leadership strategy. 

Focused differentiation: A focused differentiation strategy requires offering unique features 
that fulfill the demands of a narrow market. As with a focused low-cost strategy, narrow 
markets are defined in different ways in different settings. Some firms using a focused 
differentiation strategy concentrate their efforts on a particular sales channel, such as selling 
over the internet only. Others target particular demographic groups. Firms that compete 
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based on uniqueness and target a narrow market are following a focused differentiations 
strategy. For example, Rolls-Royce sells limited number of high-end, custom-built cars. 

 

ANSWER-B 

In the recent year's information technology and communications have significantly altered 
the functioning of organizations. The role played by middle management is diminishing as 
the tasks performed by them are increasingly being replaced by the technological tools. 
Hourglass organization structure consists of three layers with constricted middle layer. The 
structure has a short and narrow middle-management level. Information technology links 
the top and bottom levels in the organization taking away many tasks that are performed by 
the middle level managers. A shrunken middle layer coordinates diverse lower level 
activities. Contrary to traditional middle level managers who are often specialist, the 
managers in the hourglass structure are generalists and perform wide variety of tasks. They 
would be handling cross-functional issues emanating such as those from marketing, finance 
or production. 

Hourglass structure has obvious benefit of reduced costs. It also helps in enhancing 
responsiveness by simplifying decision making. Decision making authority is shifted close to 
the source of information so that it is faster. However, with the reduced size of middle 
management the promotion opportunities for the lower levels diminish significantly. 
Continuity at same level may bring monotony and lack of interest and it becomes difficult to 
keep the motivation levels high. Organizations try to overcome these problems by assigning 
challenging tasks, transferring laterally and having a system of proper rewards for 
performance. 

 

ANSWER-10 

ANSWER-A 

It is a low cost competitive strategy that aims at broad mass market. It requires vigorous 
pursuit of cost reduction in the areas of procurement, production, storage and distribution 
of product or service and also economies in overhead costs. Because of its lower costs, the 
cost leader is able to change a lower price for its products than its competitors and still make 
satisfactory profits. For example,McDonald's fast food restaurants have successfully 
followed low cost leadership strategy. 
 
A primary reason for pursuing forward, backward, and horizontal integration strategies is to 
gain cost leadership benefits. But cost leadership generally must be pursued in conjunction 
with differentiation. A number of cost elements affect the relative attractiveness of generic 
strategies, including economies or diseconomies of scale achieved, learning and experience 
curve effects, the percentage of capacity utilization achieved, and linkages with suppliers 
and distributors.  
 
Other cost elements to consider in choosing among alternative strategies include the 
potential for sharing costs and knowledge within the organization, R&D costs associated 
with new product development or modification of existing products, labour costs, tax rates, 
energy costs, and shipping costs. 
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Striving to be the low-cost producer in an industry can be especially effective when the 
market is composed of many price-sensitive buyers, when there are few ways to achieve 
product differentiation, when buyers do not care much about differences from brand to 
brand, or when there are a large number of buyers with significant bargaining power. The 
basic idea is to underprice competitors and thereby gain market share and sales, driving 
some competitors out of the market entirely. 
 
A successful cost leadership strategy usually permeates the entire firm, as evidenced by high 
efficiency, low overhead, limited perks, intolerance of waste, intensive screening of budget 
requests, wide spans of control, rewards linked to cost containment, and broad employee 
participation in cost control efforts. Some risks of pursuing cost leadership are that 
competitors may imitate the strategy, thus driving overall industry profits down; that 
technological breakthroughs in the industry may make the strategy ineffective; or that buyer 
interest may swing to other differentiating features besides price. 
 
ANSWER-B 

Value chain refers to separate activities which are necessary to underpin  an organization's 
strategies and are linked together both inside and outside  the organization. Organizations 
are much more than a random collection of machines, money and people. Value chain of a 
manufacturing organization comprises of primary and supportive activities. 

Primary Activities are inclusive of: 
• inbound logistics, 
• operations, 
• outbound logistics, 
• marketing and sales; and 
• services. 
 
Supportive Activities relate to: 
• procurement, 
• human resource management, 
• technology development; and 
• infrastructure. 
 
ANSWER-11 

ANSWER-A 

A strategy audit is needed under the following conditions: 

♦ When the performance indicators reflect that a strategy is not working properly or is 
not producing desired outcomes. 

♦ When the goals and objectives of the strategy are not being accomplished. 
♦ When a major change takes place in the external environment of the organization. 
♦ When the top management plans: 

a) to fine-tune the existing strategies and introduce new strategies and 
b) to ensure that a strategy that has worked in the past continues to be in-tune 

with subtle internal and external changes that may have occurred since the 
formulation of strategies.  
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(c)  Adequate and timely feedback is the cornerstone of effective strategy audit. 
Strategy audit can be no better than the information on which it is based. 

 

Strategy Audit includes three basic activities: 

1. Examining the underlying bases of a firm's strategy, 
2. Comparing expected results with actual results, and 
3. Taking corrective actions to ensure that performance conforms to plans. 
 

ANSWER-B 

Strategic uncertainty, which has far reaching implications, is a key construct in strategy 
formulation. A typical external analysis will emerge with dozens of strategic uncertainties. To 
be manageable, they need to be grouped into logical clusters or themes. It is then useful to 
assess the importance of each cluster in order to set priorities with respect to Information 
gathering and analysis. 

Sometimes, strategic uncertainty is represented by a future trend or event that has inherent 
unpredictability. Information gathering and additional analysis will not be able to reduce the 
uncertainty. In that case, scenario analysis can be employed. Scenario analysis basically 
accepts the uncertainty as given and uses it to drive a description of two or more future 
scenarios. Strategies are then developed for each. One outcome could be a decision to 
create organizational and strategic flexibility so that as the business context changes the 
strategy will adapt. 

Each element of strategic uncertainty involves potential trends or events that could have an 
impact on present, proposed, and even potential businesses. For example, a trend toward 
natural foods may present opportunities for juices for a firm producing aerated drinks on the 
basis of a strategic uncertainty. The impact of a strategic uncertainty will depend on the 
importance of the impacted SBU to a firm. Some SBUs are more important than others. The 
importance of established SBUs may be indicated by their associated sales, profits, or costs. 
However, such measures might need to be supplemented for potential growth as present 
sales, profits, or costs may not reflect the true value. 

 

 


